Manuals+ — User Manuals Simplified.

(o

V1V O VPO2W Universal Extending Ceiling Projector Mount
Instruction Manual

Home » VIV O » V1V O VPO2W Universal Extending Ceiling Projector Mount Instruction Manual =

Contents
1 VIV O VPO2W Universal Extending Ceiling Projector
Mount
2 Product Usage Instructions
3 PACKAGE CONTENTS
4 TOOLS NEEDED
5 ASSEMBLY STEPS
6 Documents / Resources
6.1 References
7 Related Posts

V-I'V-@

V1V O VPO2W Universal Extending Ceiling Projector Mount


https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/v-i-v-o
https://manuals.plus/v-i-v-o/vp02w-universal-extending-ceiling-projector-mount-manual.pdf

=

Specifications

Product Name: White Extending Projector Ceiling Mount
SKU: MOUNT-VPO2W

Weight Capacity: 30lbs (13.61kg)

« Color: White

Product Usage Instructions

Step 1: Cable Installation



Option A: Run cables through arm (A). Make sure not to exceed the weight capacity of 30 Ibs (13.61kg).

Option B: If running cables through the ceiling, pull cables through the top plate of the arm (A).

Step 2: Mounting

Option A: Drywall Mounting
1. Use the top plate of the arm (A) to mark the mounting holes on the ceiling.
2. Using a 3/16 drill bit, drill approximately 2.2 inches into the ceiling stud.

3. Put arm (A) in place and mount it to the pre-drilled holes using bolts (W-A) and washers (W-C).

Note: Do not install into drywall alone. Verify your ceiling construction and use wood studs to mount. If unsure,
please contact us for assistance.

Option B: Concrete/Brick Mounting

1. Use the top plate of the arm (A) to mark the mounting holes on the ceiling.

2. Using a drill bit, drill approximately 2.4 inches into the ceiling.

3. Use concrete anchors (W-B), bolts (W-A), and washers (W-C) to mount the arm (A).

Step 3: Bracket Mounting

« Mount bracket (B) to arm (A) using spacers (M-L), plates (M-M), bolts (M-I), and washers (M-J, M-K). Tighten
using the Allen wrench (T-A).

Step 4: Projector Mounting

« Adjust the arms of the bracket (C) to fit the mounting holes of your projector. Use bolts (M-A, M-B, M-C, M-D)

and washers (M-E, M-F, M-G, M-H) depending on the size of the mounting holes in your projector.

Step 5: Securing the Mount

« Hook the mount (B) to the bolts at the bottom of the mount (A). Secure using bolts (M-1) and washers (M-J, M-
K). Tighten using the Allen wrench (T-A).

Step 6: Adjustments

« Adjust the height and tilt of the mount using the Allen wrench (T-A).

Frequently Asked Questions

Q: Can this mount be used for heavy projectors?

« A: The weight capacity of this mount is 30 Ibs (13.61kg). Make sure not to exceed this limit.



Q: Can | install this mount into drywall alone?

« A: No, it is not recommended to install this mount into drywall alone. Verify your ceiling construction and use

wood studs for mounting. If you are unsure, please contact us for assistance.

Q: What tools do | need for the assembly?

o A: You will need a drill and a Phillips screwdriver for the assembly process.

Q: How can | contact customer support?

« A: You can reach our dedicated support team by email at help@vivo-us.com, through live chat on our website

WWWw.vivo-us.com, or by calling 309-278-5303.

o Our support team is available Monday-Friday from 7:00 am-7:00 pm CST.

WARNING!

« If you do not understand these directions, or if you have any doubts about the safety of the installation, please
call a qualified technician.

o Check carefully to make sure there are no missing or defective parts.

« Improper installation may cause damage or serious injury.

« Do not use this product for any purpose that is not explicitly specified in this manual. Do not exceed weight
capacity.

« We cannot be liable for damage or injury caused by improper mounting, incorrect assembly, or inappropriate

use.
WARNING: CHOKING HAZARD
SMALL PARTS — NOT FOR CHILDREN UNDER 3 YEARS. ADULT SUPERVISION IS REQUIRED.

PACKAGE CONTENTS


mailto:help@vivo-us.com
http://www.vivo-us.com

A (x1) B (x1) C(x1)

Arm Mount Bracket Bracket
M-A (x4) M-B (x4) M-C (x4) M-D (x4) e
M3x8 M4x10 M5x10 M6x10 M300-10
Washer
M-F (x4) M-G (x4) M-H (x4) M-1 (x6) M-J (x6)
M4 OD-10 M5 0D-12 M6 OD-12 M5x12 M5 OD-10
Washer Washer Washer Washer
0O @
M-K (x6) M-L (x2) M-M (x2)
M5 OD-10 D5-12 M5-12

Plastic Washer

W-A (x4) W-B (x4) W-C (x4) T-A (x1)
Screw Anchor ME OD-16 Allen Wrench

Washer

NOTE: SOME HARDWARE INCLUDED MAY NOT BE USED

WASHER SPECIFICATION KEY

M Compatible Screw Size
oD Outside Diameter
CAUTION!

o DO NOT INSTALL INTO DRYWALL ALONE. VERIFY YOUR CEILING CONSTRUCTION. USE WOOD STUDS

TO MOUNT.
« We include mounting for brick and concrete.
« If unsure, please contact us at vivo-us.com, email at help@vivo-us.com, or call us at 309-278-5303.

TOOLS NEEDED


mailto:help@vivo-us.com

Phillips
Screwdriver

1

DO NOT EXCEED WEIGHT CAPACITY.
Failure to do so may result in serious injury.

30lbs
(13.61kg)

ASSEMBLY STEPS

STEP 1

« OPTION A: Run cables through arm (A).

« OPTION B: If running cables through the ceiling, pull cables through the top plate of the arm (A).

STEP 2

« OPTION A: Drywall Mounting Use the top plate of the arm (A) to mark mounting holes on the ceiling.
» Using a 3/16” drill bit, drill approximately 2.2” into the ceiling stud. Put arm (A) in place and mount it to the pre-

drilled holes using bolts (W-A) and washers (W-C) as shown in the diagram.



W<

WA

@
@
G [\ %

e

« OPTION B: Concrete/Brick Mounting Use the top plate of the arm (A) to mark mounting holes on the ceiling.

Using a %" drill bit, drill approximately 2.4” into the ceiling. Use concrete anchors (W-B), bolts (W-A), and

washers (W-C) to mount the arm (A) as shown in the diagram.

i

« Mount bracket (B) to arm (A) using spacers (M-L), plates (M-M), bolts (M-I), and washers (M-J, M-K). Tighten



using the allen wrench (T-A).

-
L) o
sl | <
Crstil =
A —h-
e
-
B

STEP 4

« Adjust arms of the bracket (C) to fit the mounting holes of your projector. Use bolts (M-A, M-B, M-C, M-D) and

washers (M-E, M-F, M-G, M-H) depending on the size of mounting holes in your projector.

M-A/M-B/M-C/M- D
M-E/M- F/M-G/M- H

STEP 5

« Hook the mount (B) to bolts in bottom of mount (A). Secure using bolts (M-l) and washers (M-J, M-K) as shown

in diagram. Tighten using the allen wrench (T-A).




STEP 6

« Adjust height and tilt of mount using the allen wrench (T-A).

+15° -16°

« Love your new VIVO setup and want to share? Tag us in your photo! @vivo_us
« Open Monday — Friday 7:00am — 7:00pm CST, our dedicated support team can offer immediate assistance
with rapid response times. If any parts are received damaged or defective, please contact us.

« We are happy to replace parts to ensure you have a fully functioning product.

$ . 309-278-5303 AVG. RESOLUTION TIME (within office hrs): 5M 4S
cr » www.vivo-us.com Chat live with an agent! AVG. RESOLUTION TIME (within office hrs): <15 M

= e« help@vivo-us.com

o AVG. RESPONSE TIME (within office hrs): 1HR 8M

o 23% within < 15m

e 38% within < 30m

e 61% within < thr

o 83% within < 2hr

e 92% within < 3hr

« FOR MORE VIVO PRODUCTS, CHECK OUT OUR WEBSITE AT: www.vivo-us.com
o SKU: MOUNT-VP0O2W

« Scan the QR code with your mobile device or follow the link for helpful videos and specifications related to this

product.
o https://vivo-us.com/products/mount-vp02b
« GET IN TOUCH | Monday-Friday from 7:00am-7:00pm CST



http://www.vivo-us.com
mailto:help@vivo-us.com
http://www.vivo-us.com
https://vivo-us.com/products/mount-vp02b

Documents / Resources

V1V O VP02W Universal Extending Ceiling Projector Mount [pdf] Instruction Manual
VPO2W Universal Extending Ceiling Projector Mount, VP02W, Universal Extending Ceiling Proj
ector Mount, Extending Ceiling Projector Mount, Ceiling Projector Mount, Projector Mount, Mou
nt

References

« © Register a .US.COM domain today!

« ©VIVO - Desks, Monitor Mounting, and More Home & Office Solutions — VIVO - desk solutions, screen
mounting, and more

« ©VIVO - Desks, Monitor Mounting, and More Home & Office Solutions — VIVO - desk solutions, screen
mounting, and more

« © Extending Projector Ceiling Mount — VIVO - desk solutions, screen mounting, and more
« User Manual

Manuals+,



https://manuals.plus/m/6f665e103f174fbb135ad8d5e98d8569e77018fd831ddb55e23257b47ef7f050
https://manuals.plus/m/6f665e103f174fbb135ad8d5e98d8569e77018fd831ddb55e23257b47ef7f050_optim.pdf
http://us.com
http://vivo-us.com
http://www.vivo-us.com
https://vivo-us.com/products/mount-vp02b
https://manual.tools/?p=10592228#MTA0LjI4LjIzNC4xNzg7Ozs7
https://manuals.plus/

	V I V O VP02W Universal Extending Ceiling Projector Mount Instruction Manual
	V I V O VP02W Universal Extending Ceiling Projector Mount
	Product Usage Instructions
	PACKAGE CONTENTS
	TOOLS NEEDED
	ASSEMBLY STEPS
	Documents / Resources
	References



